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)

V@:—ka(t)xS
dt
k 0

S
C= Coexp(—kVT)

)
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r=k'(C,_ —C(t))

% — —k'xC(t)x (C, —C(1) x S

nCOC -Co) _ ¢ St
C,(C_—-C(1) M

a(t) = 1-q/A(p)

|nﬂ: _CL X kIXEXT
a(0) v

®

18

a(t)



T o1
a(0.1)
— a(0.1 y V
a(0) C_ xk'xS
L0
01 .ol
../,/
Sy
AN
(D
Vd—C:—kx[C]sz
dt
k 0
E:ET-FL
CcC V 0
1/C T

19

T 0.1

k*SIV

a(t)



X
kS
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D=-0.83xI

T o

21



min
0 153 150] 150 Omin
10 140 120 133 10min  120+(153-140)=133
20 140 102|102 20min  102+(140-140)=102
30 135 95] 100 30min  95+(140-135)=100
60 135 70| 70
120 135 45| 45
180 127 30] 38
240 125 19] 21 240min  19+(127-125)=21
360 125 14| 14 360min  14+(125-125)=14
450 125 8| 8 450min  8+(125-125)=8

In( - . . — (. )— ]
T 0
0 O 0 205 Of-' 100 200 300 400 50
10 ~0.22314 | -0.12029 ' -
20 —0.38566 | -0.38566 -1r .
30 -0.45676 | -0.40547| | § -15 | 3
60 -0.76214| -0.76214| | s , | N | - 00050x
120 | -120397]-120397] | = o Rl- 09331
180 | -1.60944 | -1.37305 -25
240 -2.0662 | -1.96611 3k yz-o.oonx s
360 -2.37158] -2.37158 = Ok
450 | -2.93119[ -2.81091 -85 i

-0.0069
T s =Y soe* N2 = 333.7(min)

10

T, =333.7x 9 - 370.8(min)

T
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min
0 153 150 150 Omin
10 140 80 93 10min 80+(153-140)=93
20 140 50 50 20min 50+(140-140)=50
30 135 40 45 30min 40+(140-135)=45
60 135 32 32
120 135 23 23
180 127 9 17
240 125 10 12 240min  10+(127-125)=12
360 125 8 8 360min  8+(125-125)=8
450 125 7 7 450min  7+(125-125)=7
. 0.00
min In(C/C0) 050 Oe 100 200 300 400 5
0 0.00
10 -0.48 0 T
20 -1.10 -1.50 N
30 -1.20 g-z.oo - ¢ .
60 -1.54 S 50 | .
120 -1.88 - a0 | .
180 -2.18 o ¢
240 -2.53 -350
y = -0.0086x
360 -2.93 -4.00 R2< 04684
450 -3.06 450
min
0.4684(<0.7)
ppm

23




In{a(t)/a(0)
min CL=3.0 | CL=20 | CL=1.0 | CL=0.05| CL=0.01

0 0 0 0 0 0
10 -0.01259| -0.00832[ -0.00412f -0.0002| -4.1E-05
20 -0.04167] -0.0274[ -0.01351| -0.00067] -0.00013

30 -0.04879| -0.03204[ -0.01578| -0.00078] -0.00016
60 -0.07824| -0.05112[ -0.02506{ -0.00123] -0.00025
120 -0.11956| -0.07755[ -0.03776] -0.00184| -0.00037
180 -0.17395| -0.11174[ -0.05394| -0.00261| -0.00052
240 -0.26748| -0.1689[ -0.08032| -0.00384| -0.00077
360 -0.4498| -0.27426] -0.12684| -0.00594[ -0.00118
450 -0.53941] -0.32305f -0.14746{ -0.00684] -0.00136

0.9892 09915 09917 09906  0.9905

¢ CL=30 = CL=20 CL=1.0
CL=0.05 X CL=0.01 (CL=1.0)
0 Aioek—x % *— * X% X
» s 100m 200 300 400 500
-01 - (]
=-02 * :
% -03 * - a
E 04
-05 .
-0.6
min
0.9917>0.7
-1/0.0003 ’ T
_1 O
a(0.1 Vv
a(0) C, xk xS il 1. %50)
0.1 01 0.1

x 0.1 150x 0.1=15(ppm)
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T,,=207.7x 1—5 = 230.8(min)

T
0 74 74 74 Ohr
05 60 18 32 0.5hr 18+(74-60)=32ppm
1 64 10 10 1hr 10+(60-64)=6ppm 10ppm
2 60 4 8 2hr 4+(64-60)=8ppm
3 56 4 8 3hr 4+(60-54)=8ppm
e 1/C = 1/C —  (1/C)— 1/C)|
0.3
025 y= 0.0905x + 0m35 *
R? = 09111
02 |

<015
n n
0.1 / y = 0.0458x + 0.0135
. R% = 0.7555

0.0905

9 V. 9 1

Tgy = —X x ———— =1.34(hr)
~ C, kS 74 0.0905
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min

0 3.9 3.9 3.9 Omin
30 3.8 3.7 3.8 30min
60 3.8 3.6 3.6 60min
120 3.7 3.4 3.5
180 3.7 3.3 3.3 180min
240 3.6 2.8 29 240min

45

y = -0.0039x + 3.9053
R® = 0.9649

L d

0 50 100 150 200 250 300
min

0.9649>0.7

| =—0.0039T + 3.9053

k=0.0039

1 |
=—=——" =256.4(min
Fo17 175,009 (min)

T, =256.4x % _ 284.9(min)

T

26

3.7+(3.9-3.8)=3.8
3.6+(3.8-3.8)=3.6

3.3+(3.7-3.7)=3.3
2.8+(3.7-3.6)=2.9



27




o

o Jo [o]o |o

oloJo]ofo]o

olo]o |o

oo [o o

o

o lo]ofo o |o

28



75

212000

500 6000

500 20000

0125 25

0.76 1880

04 187

25 50000

10 150

ppm

n_
n_
I_
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